
BBSSNNLLEEUU//  552266  ((JJTTOO))      
  

TToo,,  
  

SShhrrii  VViivveekk  BBaannzzaall,,    
DDiirreeccttoorr  ((HHRR)),,  BBSSNNLL,,  
BBhhaarraatt  SSaanncchhaarr  BBhhaawwaann,,  
HH..CC..  MMaatthhuurr  LLaannee,,  JJaannppaatthh,,  
NNeeww  DDeellhhii  ––  111100  000011      
  

SSiirr,,  
  

SSuubb::  --    JJTTOO  LLIICCEE  hheelldd  oonn  2277..0088..22002233
aannsswweerrss  aanndd  aammbbiigguuoouuss  qquueesstt

  
  

WWee  wwiisshh  ttoo  bbrriinngg  tthhee  ffoolllloowwiinngg  ttoo  yyoo
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MMaannaaggeemmeenntt  sshhoouulldd  ccoonnssiiddeerr  tthhee  pp
HHoowweevveerr,,  wwee  aarree  nnoott  ssuurree  aass  ttoo  wwhhaa
    
IInn  tthhiiss  ccoonnnneeccttiioonn,,  wwee  wwoouulldd  lliikkee  ttoo
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oouurr  kkiinndd  nnoottiiccee,,  ffoorr  ffaavvoouurr  ooff  yyoouurr  kkiinndd  ccoonnssiiddeerr
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nn  ooff  tthhee  rreessuullttss  ooff  tthhiiss  JJTTOO  LLIICCEE,,  BBSSNNLLEEUU  hhaa
pprroobblleemmss  ffaacceedd  bbyy  tthhee  ccaannddiiddaatteess,,  wwiitthh  rreeggaarrddss
aatt  eexxtteenntt  tthhiiss  hhaass  bbeeeenn  llooookkeedd  iinnttoo..  

oo  bbrriinngg  ttoo  yyoouurr  kkiinndd  nnoottiiccee  tthhaatt,,  ssoommee  ooff  tthhee  cca
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aamm..    

eessttllyy  rreeqquueesstt  yyoouu  ttoo  kkiinnddllyy  llooookk  iinnttoo  tthhiiss  iissssuuee
uurree  mmaayy  kkiinnddllyy  bbee  ddeeccllaarreedd  aass  ooppeenn  qquueessttiioonnss  ffoo
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oonnss  wwiitthh  mmuullttiippllee  ccoorrrreecctt  

rraattiioonn..  

ooff  tthhiiss  LLIICCEE  aarree  aallrreeaaddyy  
aadd  ddeemmaannddeedd  tthhaatt,,  tthhee  
ss  ttoo  tthhee  qquueessttiioonn  ppaappeerr..  

caannddiiddaatteess  hhaavvee  bbrroouugghhtt  
ttiippllee  ccoorrrreecctt  aannsswweerrss  aass  

wwhhiicchh  aarree  aammbbiigguuoouuss  oorr  
rr  sshhoouulldd  bbee  ggiivveenn  ttoo  tthhee  

ee..  WWee  rreeqquueesstt  tthhaatt,,  tthhee  
oorr  wwhhiicchh  tthhee  ccaannddiiddaatteess  
ee  ccoorrrreecctt  aannsswweerrss..    
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Annexure : List of Questions: 
 
 
 

Sl 
No 

 
Questions 

Provisional Key 
answer 

 
Corrections 

 
 
 
 

1 

Koderma, in Jharkhand is the 
leading producer of which 

one of the 

 
 
 
 

MICA 

Forest Conservation Act 1980 that all mica mines 
has been closed. Present leading producer is 

Andrapradesh Nellore. So It is a wrong question It 
should be asked as "WAS" Following minerals? 

 
 

2 

Which statement is not 
correct regarding Group of 

Twenty (G20)? 

 
There are 20 

countries in G20. 

 
 

G 20 total countries are 19 plus EU ( 27 countries) 
 
 

3 

 
What is the pH value of acid 

rain water? 

 
 

less than 5.6 

Typical value of acid rain water is 4.multiple 
answers are correct less than 5.6 and none of 

these. 
 
 

4 

Which one of the following 
makes substance a natural 

resource? 

 
 

utility & value 

 
There are many technologies to makes substance a 

natural resource .more than one answer correct 
 
 
 
 
 
 
 
 

5 

Rohit gave his friend clues 
about a type of soil that suits 

for growing 

 
 
 
 
 
 

i. It is well-known for 
its capacity to hold 

moisture. 

 
 
 

 
It is rich in kankur and bhangar nodules. Also 

correct. The Bhangar is of a more clayey 
composition and is generally dark colored. Clayey 

properties help to grow the cotton. Multiple 
answers are correct 

cotton. Which of the 
following clues provided by 

Rohit would be most 

useful in identifying the ideal 
type of soil? Clues: 

 
 
 
 
 

 
6 

Dhyan Chand,  
 
 
 
 

 
RQSQ 

 
 
 
 
 

Question is asked about sequence not to complete 
hence option QRPS also correct. 

P. one of the greatest players 
Q. was an Indian Hockey 

player. 
R. who was considered to be 

S. of all time, 
 
 
 
 
 
 

 
7 

Mother was asked how many 
gifts she had in the bag. She 

replied that 

 
 
 
 
 
 

 
9 

 
 
 
 

 
Not a meaningful question. Where “but six” is 

wrong. “except” is the proper word so it is 
ambiguous question 

There were all dolls but six, all 
cars but six, and all books but 

six. How 
many gifts had she in all ? 

 
 
 
 

8 

 
 

There's never petrol left 
after Rahul uses the car 

 
 
 
 

Sufficient 

 

Answer should be given as "much”. But alternative 
options like sufficient and a little also correct 

grammatically so multiple answers are correct here 
 


